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Abstract

A gravitational ellipse is the mathematical result of Newton’s law of grav-
itation. [Ref.1] The equation describing such an ellipse, is obtained by differ-
entiating space-by-time twice. Le Verrier [Ref.2] stated: ’'rotating gravitational
ellipses are observed in the solar system’. One could be asked, to adjust the ex-
isting gravitational equation in such a way, that a rotating gravitational ellipse
is obtained. The additional rotation is an extra variable, so the equation will be
a three times space-by-time differentiated equation. In order to obtain a three
times space-by-time differentiated equation we need to differentiate space-by-
time for the third time. Differentiating space-by-time twice gives the following
result.[Ref.3]

(X)2+ (V)2 = (R — Ra®)? + (Ri + 2Ra)?
(1)

A third time differentiation of space-by-time gives the result:

(X)2+ (V)% = (R — 3Ra® — 3Raii)? + (R4 + 3Ri + 3Ra — Ra3)?
(2)
We are now simply performing the necessary mathematical exercise to produce
the new equation, which describes rotating gravitational ellipses.

=

I assume that the reader accepts the mathematical differential equation, which
defines a rotating gravitational motion as observed. But we now have two equa-
tions defining rotating gravitational ellipses as observed in nature: the EIH
equations (Ref.4) and the above equation 2, which obeys the Euclidean space
premises.



The differentiation of space by time

In the Euclidean space we have X = R cos(a) and Y = R sin(a). Squaring
X and squaring Y and then adding them results in:

(3)
as cos®(a)+sin?(a) = 1. The differentiation by time of X = R cos(a) and Y =R

sin(a) results in: (X)) = (R)cos(a) — Rasin(a) and (Y) = (R)sin(a)+ Racos(a)
Squaring these last two equations and adding them results in:

(X)?+ (V) = (R)” + (Ra)?
(4)
Coriolis has differentiated space-by-time twice so repeat this procedure and
equation 1 is the result. The result of the third space-by-time differentiation is
equation 2 and the full derivation is in the appendix.

We are used in reasoning with forces and we make pictures of forces explaining
the situations. If we multiply equation 1 with mass m then; The force in the
x-direction Fx is mX. The force in the y-direction Fy is mY. The force in
the radial direction consists of two components: mR and —1mRa? . The force
in the angular direction consists of two components: mRé and +2mRa . The
last component is called the Coriolis force. The Coriolis force was unknown
and unseen until the second differentiation of space by time. The third time
differentiation of space by time results in new unseen mathematical terms just
like the second time differentiation of space by time. In the radial direction we
see: —3Ra% and —3Rad . In the angular direction we see: +3Rd and +3Ra
and —Ra? . Differentiating a force in the radial direction Fr or a force in the
angular direction Fa will not lead to these terms. The mathematical terms
of the third time differentiation of space by time are unique and unrelated.
The mathematics created these terms. Differentiating a force in the radial di-
rection or differentiation of a force in the angular direction does not lead to
these new terms. Reasoning in words will not lead to these new mathemati-
cal terms. If a mathematical problem includes the third time differentiation of
space by time equation 2 should be used. The differentiation of energy by time
is £ = dE /dt. Energy is a force over a distance. E = Fdx. This results in
dE/dt = d(Fdz)/dt = (dF/dt)dz + Fdz/dt = (F)dx + F& = m(%dz) + Fi.
From equations 1 and 2 we know that there is a difference between a force be-
ing differentiated by time and a third order interaction. There is a difference
between d(F)/dt = (F) and m'¥ This non-equality is important in order to do
the correct mathematics. The term m is created through multiplying equa-
tion 2 with mass m. The term d(F)/dt = (F) is created by multiplying with
m and differentiating by time of equation 1. The two-dimensional nature and
differentiating space by time created this unforeseen complexity.



Third-order equations
Trajectories of planets are described using the following two equations.

R—Ri®>-C/R*=0

Ri+2Ra=0
Differentiate these equations 5 and 6 by time and one obtains:

R — Ra® — 2Rai + 2CR/R? = 0
R@ + Ri+2Ra+2Ri =0
Rearrange the equations:

R = Ra*+ 2Rai — 20R/R?

R = —Ri — 2Ra — 2R

(10)
From the third order space by time relation , equation 2, we have:
Gr/m = R — 3Ra® — 3Rai
(11)
Ca/m = Rd + 3Ri + 3Ra — Ra®
(12)

As the symbol F is used for force, the symbol G is used for a third-order inter-
action. Replace the R and the @ and one will get a new interaction.

Gr/m = —2Ra* — Rai — 2CR/R?
(13)

CGa/m = Ra — Ra®
(14)
We now have the new third order interaction and let the computer do the actual
calculation.



Le Verrier stated that the gravitational ellipse should rotate. The equa-
tions 5 and 6 should be transformed rotationally. This transformation is like
a velocity transformation in the x direction, but then in the angular direction.

’ ¥

a'=a-al

!Ial

We have X = Rcos(a) and Y=Rsin(a).

X' = cos(al)X + sin(al)Y

(15)
Y’ = —1sin(al)X + cos(al)Y

(16)
R’cos(al) = cos(al)Reos(a) + sin(al)Rsin(a)

(17)
R’sin(al) = —sin(al)Rcos(a) + cos(al)Rsin(a)

(18)

(R)? = (R)?
(19)
R =R
(20)



cos(a’) = cos(al)cos(a) + sin(al)sin(a)

sin(a’) = —sin(al)cos(a) + cos(al)sin(a)

cos(a') = cos(a — al)

sin(a’) = sin(a — al)

a =a—al

al = wt

o' =a—wt

a =a—w
a'=a
R'=R
=R

From Kepler ,we have:

aR? = constant

(22)

(23)



So:

(@' +w)R"™? = constant
(33)
From now on we will leave out the quote for indication of the new system and
recalculate the interaction equation. Differentiate the Kepler law and this will
get the new Coriolis equation.

4R? 4 (a +w)2RR =0

(34)
Divide this equation by R.
iR+ (@ +w)2R =0
(35)
Differentiate this equation by time.
@R+ R+ 2aR + 2aR + 2wk =0
(36)
Rearrange the equation:
GR+3iR+2(a+w)R=0
(37)
Move the non-triple dot terms to the other side.
R& = —3aR+ —2(a +w)R
(38)
The angular third order interaction is the following equation:
Ca/m = Rd + 3Ri + 3Ra — Ra®
(39)
Fill in the R angle triple dot from equation 38.
Ga/m = —3iR + —2(a + w)R + 3Ri + 3Ra — Ra®
(40)
Rearrange the equation:
Ga/m = (@ — 2w)R — Ra?
(41)

This equation is almost equal to equation 14. The difference is 2w and that is
small. Mercury orbits the sun in 88 days and has a radius r of about 57 million
km. The angular velocity is than 8e-7 rad/sec. The angular velocity out of
the rosette motion is 35 km in one orbit. The angular velocity for the rosette
motion is 8e-14 rad/sec. But one can use the exact equation.

Do the same for the radial interaction.

R—Ri®>-C/R*=0
(42)



Fill in the new angular velocity.
R — R'(d +w)?> - C/R?=0
Differentiate this by time and leave out the quote for the new system.
R = R(a+ w)?+ R2(a + w)i — 2CR/R?
The radial interaction of the third order was:
Cr/m = R — 3Ra* — 3Rai
Replace the R triple dot. (R).
Gr/m = R(a +w)? 4+ R2(a + w)i — 20R/R? — 3R4® — 3Raii

Write out all the terms and rearrange them.

Gr/m = —2Ra® + 2wRa + Rw? + R(2w — a)i — 2CR/R?
Rewrite the equation in the form to see the deviational terms.

Gr/m = —2Ra* + R(2w — a)i — 2CR/R® + 2wRa + Rw?
The first new interaction equation was:

Cr/m = —2Ra® — Rai — 2CR/R?

(49)

Term w is small compared to a. So the equations are approximately equal. But

one can always use the exact equation.



Conclusion

The differentiation of space by time as it was done by Coriolis revealed math-
ematical terms that were unknown and unseen before his mathematical exercise
was performed. This mathematical exercise also reveals unknown and unseen
mathematical terms. The two-dimensional nature of this exercise creates these
mathematical terms. The important question is: Are these equations describ-
ing reality? Le Verrier states: 'Rotating gravitational ellipses are observed’. So,
this mathematical exercise is just the workout of the accepted task of Le Verrier.
The present mathematical workout of the mathematical exercise has been done
in a Euclidean space. The result is therefore controversial. The EIH equations
already exist for some time. Science should evaluate mathematical equations
regarding their ability to mathematically describe reality. The mathematical
equations derived in this exercise are meeting this requirement. Therefore these
equations should be accepted by science.

The most important aspect of this mathematical exercise is the existence of
the equations 1 and 2. Through these equations there are two ways of calculating

differentiation of space by time. This result is equation 2. The problems and
consequently accepted solutions of this issue need to be addressed first.
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Appendix
The first differentiation of space-by-time.

[xw}z _ Y X

1 1
45 XY 2

2
2 Y

Xy

+ Z

' v

: dX
% =R cosla)
¥ = Rsin(a)

k=  Recosla) - Rasin(a)
= Rsinfa) + R&cos(a)

| TR {Recosla) - Rasinia) :I1 + (Rsinfa) + J-'!éi:nzns.l:a]:l=

e a A CGS{a:Iz+ H:rézsin{a:lz - 2 Rcosla) R &sinfa)

¥ h,z'SiI'I[EJz Rzézcm[a:lz + 2 Rsinfa) RA&cos(a)

24 322 B+ RN
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The second differentiation of space-by-time.

x =R cosla)
y = Rsin(a)

%= Rcosla) - Résin(a)
¥= Rsin(a) + R&cos(a)

%= HKcosla) - Rasinfa) - Rasinfa) - p&’ cos(a) - REsin(a)
= [Ksinfa) +RAcosfa) +Racosfa) - rA&® sinfa) + R¥cos(a)

%= Hcosla) - 2 R&sinfa) - R&% cosla) - R¥sinfa)

y= HKsinfa) + 2 Racosla) - R&% sinfa) + R¥cos(a)

g = ﬁi:os{af + 4 hzaziinta]z + R& :m{alz + thﬂ:r:im:a]lz
- 4 Kcosla) kasin(a) - 2 Kcos(a) R &% cosla) - 2 Kcosla) R¥sinla)
+ 4 Rasinla) R4 cosla) + 4 Rasin(a) R¥sinfa)

+ 2 RA&% cosfa) REsinla)
9 = Ksinfa) + 4 Rakos(a) + R sinfa)’ + R¥eos(a)’
+ 4 Rsinla) Rbcosfa) - 2 Ksin(a) R A% sinfa) + 2 K sin{a) R ¥ cos(a)
- 4 Racos(a) R4 sinfa) + 4 Racos(a) R¥Ecos(a)
- 2 RA& sin(a) R¥cos(a)
22+ § = K+ 4Rs + RS +RY - 2KR& + 4 RIRY

!Ez+vi

(K-RrR$) + (RE+2R3 )
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The third differentiation of space-by-time.

x =R cosla)
y = Rsin(a)

%= Rcosla) - Résin(a)
¥= Rsin(a) + R&cos(a)

%= Kcosla) - Rasinfa) - Rasinfa) - R&" cos(a) - REsin(a)
= HKsinla) +Racosfa) +Récosfa) - RrA? sinfa) + REcos(a)

- R¥sinla)
+ R § cosla)

Kcosfa) - 2 RAsinfa) - RA&° cos{a)
y= Ksin(a) + 2 Racosfa) - R&® sinfa)

Rcosla) - 2 Kasinfa) - R &% cosfa) - R¥sin(a)
- Rasin(a) - 2 R¥sinfa) - 2 RA¥ cosla) - R & sin(a)
- 2 Ra*cos(a) + R4 sinfa) - RE 4 cosla)

V= K sin(a) + 2 Hacos(a) - RA% sinla) + RYcosla)

+ Racosfa) + 2 Ricosfa) - 2RA%sin(a) + R%cos(a)
- 2Ra%sin(a) - R&cos(a) - R¥3sinla)
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= Kcos(a) - 2 Kasina) - 3 R &% cosfa) - 3 R¥sinfa) - 3RA¥cosla) + R& sinfa) - R¥sin(a)

& = FKcosta) + 9 HSin(al+ 9 K's* cosfa)” + 9 K& sin(a) +9Ra8cosla) + Ra‘sinfa) + Risinfa)

. 6Hcosfa) Basinla) - 6Bcos(a) & & cosla) . 6Kcosla) R¥sinfa) - 6 Rcos(a) R3Y cosla)
+2Rcosfa)Re'sinfa) - 2 Reos(a) RE sin(a)

+ 18K & sina)R &% cos(a) + 18K & sinfa) R § sin(a) + 18K & sin(a) RAE cosla) - 6 Hasin(a) R4 sin(a)
+ 6 F & sinfa) R sinfa)
+ 18 R 37 cos(a) R ¥ sinfa) + 18R 37 cos(a)R 4% cos(a) - 6R 47 cos(a) R & sinfa) +6 R &7 cos(a) R §sin(a)

+18 R¥sinfa) R AY cosla) - Eﬁl:lnl:a]lluj sinja) +6 k¥ sinlaiﬂi‘:ln{n}

-6R A% cosa)R & sinfa)+6R 4% cosla)R & sinfa)
2nd sin{a) R & sin(a)

V= B sinfa) + 3 Kb cosla) - 3R 4% sinfa) + 3R¥cosla) - 3RANsinfa) - R&’cosla) + REcosla)

';l: = ﬁ:il‘liljtf 9 E;‘if:m[.fl- 9 II:E" :il'l:l]z +9 kts!:nﬁa'; + 9 Ralzrlsin{u}z + H!i'cnsq',a:l: + H.zi“:;ursl:i]z

+ 6 Rsinfa) Bacosla) - 6Fsin(a) R asinfa) + 6 Bsina) kScosfa) - 6 F sinfa) R&S sinfa)
- 2K sinfa) R¥cosla) + 2 K sinfa) R & cosla)

- 18K &cosfa)R 4% sinfa) + 18K &cosla) R 5 cos(a) - 18 K dcos(a) R 45 sinfa) - 6 Eacos(a) R Y cosla)
+ 6 Hicos(a)R & cosfa)

- 18 R &7 sina) R¥cos(a) + 18k &7 sin(a)R 45 sinfa) + 6R &% sin(a) R&cos(a) - 6 R &7 sin(a) R cosla)
- 18 R¥cos(a)R &Y sinfa) - &R ¥cos{a)R 1'4;0«:{.]- +6 Bt ¥cos(a) R ¥ cos(a)

+6R A% sin{a) R &°cosla) - 6 RAH sin{a) R cos(a)

- 2R ¥'cosla) R cos(a)
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¢=‘ " #1 " ﬁim{e}l +9 ﬁ!s.l nla!z 19 B cosla) +9 pfﬂ“-.(.f +9 fa:l:r.m{a}: + Rza‘ﬂ'ni.'i]: + R:i:sinfa'-‘z
. 6 HRecos(a) s sin(a) - 6HRcosla) R 5% cosla) . 6K cosla) R¥sinja) - 6 R cos(a) R 8% cos(a)
+ 2 Rcosla)R&"sinfa) - 2 R cosla) R # sinfa)

+ 18H bsinla)R 4" cosla)+ 18K b sinfa) R S sinla) + 18K dsin(a) R4 cosfa) -6 K & sin(a) R & sin(a)
+ 6 K &sinfa) Ri:inllll

+ 18R 37 cosla) R ¥ sinla) +18R 57 cos(a) R 4% cos(a) - 6k 47 cos(a) R&'sin(a) +6 R &7 cosla) R sinla)
+18 R ¥ sinfa)RAY cosla) -6RNsinfa)R & sinfa) +6 R ¥ sin(a) R ¥ sinfa)

-6R A% cos(a)R &’ sina)+6R 4% cos(a)R & sin(a)

- 2Ilf:in[l]ltilir|l_ll

Ksin(e) + 9 Kakos(al'+ 9 K8 sinfa)” + 9 Kicos(e) + 9 K4 'sinla)” + Ki¥cosfo]’ + Ricos(a)’
+ 6 Rsinfa) K8 costa) - 6Hsinfa) R4%sinfa) + 6 K sinfa) R¥cosla) - 6 Ksinfa) RAF sinfa)
- 2fisinfa) R¥cos(a) + 2 R sin(a) R cosfa)
- 18H bcosfa)R 47 sinfa) + 18K bcos(a) R 8 cos(a) - 18 H Acos{a) R AF sin(a) - 6 B beos(a) R 8 cos(a)
+ 6 Khcos(a)R & cosla)
- 18 k &% sin(a) R¥cos(a) + 18R &7 sin{a)R &4 sin(a) + 6 R &% sin(a) R&’cos(a) - 6 R 47 sin(a) R & cos(a)
- 18 R Scos(a)R4¥ sinfa) - 6R Scos(a)R 8'cosla)  +6 RScos(a) R § cos(a)
+6 R &4 sinja) R l’mﬂ'l] -6 RA%sinfa) R § cos(a)
- 2R & cos(a) R§ cos(a)
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#z 4 i‘z = Hcm[a} +9 hsm{a] +9 R ms[aln +9 hlsmla} +9R8Y cm{n] +RE sm[a}z + H!izsin[q,
- 6 Kcos(a) Kasin(a) -6 Rcos(a) R 4% cos(a) . 6 Kcosfa) R¥sin(a)| = - 6 Keosla) RAY cosla)
+ 2 Kcosla) R & sinfa) -2 R cosla) R & sinla) |
+ 18H 4 sinfa)k &7 cosfa) + 18K 4 sinfa) R ¥ sinfa) + 18 H 4 sinfa) R8¥ cosfa) -6 K 4 sin(a) R & sin(a)
+ 6 Kasinfa) R lﬂnl:l] :
+ 18 R &% cosla) hhmm +18R &% cosa) R A% cosfa) - 6R &7 cos{a) R& sinfa) | +6 R & ? cos(a)R 1§ sinfa)
+18 REsin(a)R A8 cosla) -6REsin(a)R 4 sin(a) +6 R ¥ sin(a) R & sinfa)
- 6R A% cos(a)R 4 sin(a)+6R 35 cosfa)R & sin(a)
- 2R 4" sin(a) R § sin(a)

ﬁiin[.}u 9 Ezi.‘;::r_;iﬂ:+ 9 ﬁ:i‘ ~sini.'«l'_l1 +9 hzﬂziﬂiliiz +9 ﬂ:ézlzsin[alz + R’&‘ms{a:-z + nziz:osla}:
+ 6 ﬁﬁn{l] R4 cos(a) - 6K sin{a) k &7 sinfa) '+ 6k sinfa) R ¥ cos(a) | | |- 6 ESII"I!I:l RAS nn[.j
_ - 2 ﬁ sinfa) Ry cosla) [-I- 2 E sinfa) Ricm[a}l
[- 18K Scos(a)k 47 sinfa) + 18K Scos(a) R ¥ cos{a) - 18R Scos(a) R &Y sinfa) - 6 K scosfa) R & cosla)

) + 6 Hacos(a)RE :nsla]
- 18 k &% sin(a) R §cos(a) + 18R &7 sin{a]n 4% sinfa) + 6R &7 :inmna cosa) |- 6 R &7 sinfa) R § cos(a)/
- 18 R¥cos{a)R &% :In:aj 6REcos(a)R Mcos(a) +6 REcos(a) R E cosla)

+6 R 3% sin(a) R 3 "cosfa) - 6 R 43 sin(a) R § cos(a)|

- 2R & cos(a) R § cosia)

Qf + ﬁ‘z = I'Iias[a}:+ 9 Ezhzsinla;:+ 9K ms{a}z +9 hziiln{af +9 It:l:l:tm{n}z + A8 sinja)” + R i';in[.ull't
-6 K cos(a) R &% cosla) - 6 Kcosla) R &% cosla)

+18HK & sinla) R $ sinla) ) -6 H 4 sinfa) R & sin(a)
+ 6 KA sin(a) R ¥sin(a)

+18R &% cos(a) R AX cos(a)
-6R¥ sinfa}R 'y sinfa) +6 R ¥ sinfa) R ] sin(a)

- 2R 4’ sinfa) R & sin(a)
ﬁzsin{a}=+ 9 E’.l‘::mh;,.. 9 tha' sinla]: +9 Il"ltms{af + 9 R:iiﬁiiin:air + R:t‘cusia]z + thii:.:nﬂa]?
= 6 ] sinfa) R 4% sinfa) - 6 Riinh] R&Y sinfa)
+ 18K dcos(a) R § cosla) - 6 H 4cosla) R & cosla)
+ 6 Kacosla)R & oos{n]

+18k &° sln[a:m 4% sin(a) + 6 R &% sin(a) R &"cosla)
- 6R¥cos(a)R A’cos(s)  +6 REcos{a) R § cos(a)

- 2R 4" cos(a) R § cosla)
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= 3.2
Vabw B 400 o8h +9RY + 9 R4y + B8 +RE
-6K R &% -6 K RAY
+1888 Ry . -6 Ka RS
+ 6RA RE
+18R & RA&S
-6h ¥ RS +6RE RE
- 2p%' RE
I | 5 2z 2 z2 £ X 2.2
W +8= H +9 Ks +9 Ry +ohs + 9RAY + RS +RE
-6fika? -6 Kary +6RYRE
-6 Brag +18Ra7maN -sh3ry + 6 Hang
+18HahR% - 2R¥ RE

[§]2+|¢]2 - (B-3882-3R1% ;2 +(RE+38R + 3R %- Ftﬁ]2

New third order

New third order  Coriolis interactions
centrifugal interactions
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Orthogonality of Euclidean space

v (X.Y)

Fai
K,
g
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Rotating gravitational ellipses

Y
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Differentiating space-by-time

X = Rcos(a)
(50)
Y = Rsin(a)
(51)
Differentiated by times
X = Rcos(a) — Rasin(a)
(52)
Y = Rsin(a) + Racos(a)
(53)
Squared them
(X)? 4 (V)2 = (Rcos(a) — Rasin(a))? + (Rsin(a) + Racos(a))?
(54)

(X)? + (V)2 = (Rcos(a))? — 2Rcos(a)Rasin(a) + (Rasin(a))? 4+ (Rsin(a))? + 2Rsin(a)Rdc(os()a) + (Racos(a))?
55

(X)z + (Y)2 _ R2 +R2d2
(56)
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Differentiated by times
X = Rcos(a) — Rasin(a) — Rasin(a) — Ra?cos(a) — Rasin(a)
Y = Rsin(a) + Racos(a) + Racos(a) — Ra?sin(a) + Ricos(a)
Rearranging the terms

X = Rcos(a) — 2Rasin(a) — Ra*cos(a) — Risin(a)

Y = Rsin(a) + 2Racos(a) — Ra%sin(a) + Ricos(a)
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